YEAR 9 DECIMALS and % TEST.

Section A

Find the sum of the numbers in each question.

1
5.3
3.7



2
8.3
1.7



3
7.8
0.2



4
8.9
0.1



5
8.3
1.7



6
8.9
1.1



7
8.9
0.1



8
6.7
1.3



9
6.3
2.7



10
2.8
5.2



11
7.7
1.3
7.7
1.3

12
7.2
0.8
0.8
7.2

13
2.4
0.6
0.6
2.4

14
5.2
2.8
5.2
2.8

15
6.4
3.6
3.6
6.4

16
4.3
2.7
2.7
4.3

17
6.7
3.3
6.7
3.3

18
2.1
2.9
2.9
2.1

19
2.6
1.4
1.4
2.6

20
5.6
3.4
5.6
3.4

Section B

Put the numbers in order, smallest first

1
0.2
0.5
0.8
0.6

2
0.01
0.02
0.22
0.12

3
0.01
0.1
0.08
0.11

4
0.55
0.5
0.6
0.62

5
0.71
0.17
0.7
0.1

6
0.21
0.2
0.31
0.13

7
0.83
0.38
0.8
0.3

8
0.4
0.04
0.44
0.15

9
1.2
1.7
1
0.9

10
2.5
0.25
0.5
0.2

11
5.1
1.5
0.15
0.1

12
0.9
9.9
9.09
0.09

13
2.6
2.7
2.65
2.75

14
1.89
1.9
2
1.1

15
4.2
2.4
4.24
4.44

16
1.7
2.9
9.23
9.3

17
2.11
2.01
2.1
1.2

18
1.34
4.31
2.4
4.4

19
2.9
2.09
2.1
2.91

20
3.45
3.44
3.4
3.6

Section C

In this section, fill in the gap.

Choose from 

(10
(100
(10
(100

1
41

=
4.1

2
64

=
6.4

3
98

=
9.8

4
92

=
0.92

5
24

=
0.24

6
99

=
990

7
68

=
680

8
48

=
0.48

9
37

=
3.7

10
83

=
0.83

11
44

=
4.4

12
23

=
230

13
27

=
270

14
42

=
0.42

15
70

=
700

16
1.5

=
0.15

17
9.6

=
96

18
6

=
0.06

19
1.4

=
140

20
7.7

=
0.077

Section D

1
a)
10%
of
10
b)
20%
of
10

2
a)
10%
of
90
b)
20%
of
90

3
a)
10%
of
20
b)
20%
of
20

4
a)
10%
of
80
b)
20%
of
80

5
a)
10%
of
70
b)
30%
of
70

6
a)
10%
of
90
b)
30%
of
90

7
a)
10%
of
70
b)
30%
of
70

8
a)
10%
of
30
b)
30%
of
30

9
a)
10%
of
90
b)
30%
of
90

10
a)
10%
of
40
b)
5%
of
40

11
a)
10%
of
340
b)
5%
of
340

12
a)
10%
of
240
b)
5%
of
240

13
a)
10%
of
300
b)
5%
of
300

14
a)
10%
of
190
b)
60%
of
190

15
a)
10%
of
120
b)
60%
of
120

16
a)
10%
of
250
b)
60%
of
250

17
a)
10%
of
300
b)
60%
of
300

18
a)
10%
of
170
b)
15%
of
170

19
a)
10%
of
150
b)
15%
of
150

20
a)
10%
of
250
b)
15%
of
250

